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	2.
	513,846 + 17,389 =
	









	
	
	

	3.
	 135 x 8 = 
	









	
	
	

	4.
	1/6 ÷ 4 =
	









	
	
	

	5.
	733,087 + 251,994 =
	









	
	
	

	6.
	1 –   = 0.03    
	









	
	
	

	7.
	3/7 + 4/21 =
	









	
	
	

	8.
	45 x 3=
	









	
	
	

	9.
	684 x   = 2,736
	









	
	
	

	10.
	0.67 + 0.543 =
	









	
	
	

	11.
	 20% of 120 =
	









	
	
	

	12.
	MDCLX  =
	









	
	
	



	13. 
	12 - 14  = 
	









	
	
	

	14.
	3.42 km =         m
	









	
	
	

	15. 
	 How many faces has a cube?  
	









	
	
	

	16. 
	 1/3 ÷ 2/4 = 
	









	
	
	

	17.
	10% of 64 =
	









	
	
	

	18.
	1 2/3  + 2/6 =
	









	
	
	

	19
	2/7 x 1/6 =
	









	
	

	

	20.
	What the name of a triangle with two identical length sides and two identical angles? 

	









	
	
	



